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Calculating Concentration fron;n_'l pH and pOH
H20
1. What is the concentration of hydronintm]i'ons in the following solutions given their pH
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2. What is the concentration of hydroxide ions in the following solutions given the following
information? 2
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3. What is the concentration of hydrochloric acid, HCI(aq), that gives a solution with a pH of
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4. What is the concentration of lithium hydroxide, LiOH(aq), that gives a solution with a pOH
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5. What is the concentration of sodium hydroxide, NaOH(aq), that gives a solution with a pH of
10.32?
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6. What is the concentration of barium hydroxide, Ba(OH),(aq), that gives a solution with a pH
of 11.8367 %(\(O\‘W > tagd e '%Cuz-fccxcb‘) - QOHFCQC{)‘)

( | X Zreho DH=1.R%, (
| Balow)y X DOV = datleH
- - \o-a.\w
2 on (02,5« IO -
= . OOBHB ol /L (©.85* O™ 2mol /[

7. Isit possible to make an aqueous solution with strontium hydroxide, St(OH),(aq), that gives
apOH of 10.54? If so calculate it. If not, explain why not.

8. What mass of hydrogen chloride gas, HCI(g), needs to be dissolved in 2.00 L of water to
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( 9. What mass of rubidium hydroxide, RbOH(s), needs to be dissolved in 1.50 L of water to (
create a solution with a pH of 9.35? oo = H.@5 ‘
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10. What mass of strontium hydroxide, Sr(OH)(s), needs to be dissolved in 3.0 L of water to
create a solution with a pH of 8.34? Do Hn= 8500
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